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- 5.2-5.4(®D) 5.2-5.4(®D) 5.1-5.5(®D)
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Cl 18 B — 55 EHEIGD ERE 2 3 4
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GLU IH B — A1 EENSDEWRE 2.3% 5.0% 7.5%
T-BIL 15 B —{A 1 EEMSDE% 5.0% 5.0% 7.5%
T-BIL 18 B — {5 51 FEHEHSDmg/dI 0.2 0.2 0.3
Na IR B — 514 EHEMSDEmmol/L 2 3 4
K IR B — 5514 T EMSD Emmol/L 0.1 0.1 0.2
Cl IR B — &5 4 EHEHSDEmmol/L 2 3 4
Ca IR B — 1551 FHEN LD+ %FE 1.0% 4.0% 6.0%.
IP IR B — 514 EENSDEKRE 3.5% 5.0% 7.5%
Fe IR B — 15514 FEEISD L %RE 5.0% 5.0% 7.5%
Mg IR B — & FHENSD +%iRE 5.0% 5.0% 7.5%
TP IR B —1& 5 FEHENM LD+ RFE 1.3% 5.0% 7.5%
ALB 15 B — 55T FHEMDEWRE 1.3% 5.0% 7.5%
UA 15 B —{& 51 FEEINSD L %RE 5.0% 5.0% 7.5%
BUN 185 B — 55T EEMNSDEmg/dl 0.5 1.0 1.5
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IR B R ipape A B C
CRE 15 B —$&& 4 FEIEISD £ mg/dl 0.05 0.10 0.20
CRE 15 B — 55T FEHEMNSDEmg/dl 0.15 0.15 0.25
T-CHO 15 B — & 5T EHEILD £ WRE 4.5% 5.0% 7.5%
TG IR E —1&&TE FEHEMNSDEKRE 5.0% 5.0% 7.5%
HDL-C A—H— R FE{ EHENSDEWRE 5.0% 5.0% 7.5%
LDL-C A—H— I THEMSD E%RE 5.0% 5.0% 7.5%
CRP #e BT EEMNSDEmg/dl 0.1 0.2 0.3
CRP #a > E 5T EEMNSDEmg/dl 0.3 0.4 0.8
AST IR H —{&FE FEHENMSD+%RE 5.0% 5.0% 7.5%
ALT 15 B — & 5T EHEIODERE 5.0% 10.0% 15.0%
ALT I8 B — & &1 EEISDERE 12.4% 12.4% 18.6%
AMY gl S FHEISDEIRE 5.0% 5.3% 7.9%
AMY 2 5 Al 5T FHEMDERE 6.8% 6.8% 10.2%
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CK 15 B — 55T FEHEI D HRE 5.0% 5.0% 7.6%
GGT 15 B — 55T FHEISDERE 5.0% 5.0% 7.5%
Ch-E 15 B — & 5T FEHEISDEREE 4.7% 5.0% 7.5%
HbAlc 77 35l S FHEIrLD +HRE 5.0% 5.0% 7.5%
HbAlc 7 35 5l Al EHEMSDERE 7.5% 7.5% 10.0%
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. VR 0.63 2.12
eI 53 0 0 3 !
HAHEE % 0.80 2.20
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BCPHBi& 5.15 3.60
BCP:% 5.50 3.70
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